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B.Sc., Semester-Third,
Examination-2023

PHYSICS
PAPER - Second
(Geometrical Optics)

[Time : 3 Hrs,| | Maximum Marks : 60|

Note : This Question paper contains two sechions.
Section A contains Eight short answer type
questions. Attempt any five questions from
this section. Each Question carries 6 marks.
Section B contains five long answer type
questions. Attempt any three questions from
this section. Each question carries 10 marks.
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SECTHON - A/ TIUE M
(Short Answer Type Questions)
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Attempt any 05 question out of 08 given
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What is achromatic lens? Also state and
explain the formula of achromatism.
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Consider a coaxial system of two thin convex

lenses of focal length 'f each separated by

a distance 'd'. Draw ray diagram for image

formation corresponding to an object at infinity

placed on the principle axis in the following

cases.
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(a) d<f

(b) d=f

() d>2f
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Explain the cardinal points in Gaussian oplics

6
9 in Ramsden's eye piece, two  thin Plane et T CaltiEd i g UHTA f’ﬂi'-"[ o | (2| EE
: % lenses are separated f ach othe
cConvex 1enses are sepdarataed roam eacr Oired 1ﬂ'§1|"1'}|
by 8 cm Calculate
1 AFFET AL Udel Audender o1 K I ) v Explain mirror formula. An object of size 7 cm
qe feerd #woEn b is placed at 27 cm in front of a concave mirror
ing focal length of 18 cm. Find the locati
(1)  The focal length of each lens, having foca 9 ) cation
of the screen to obtain a sharp focused image,
TIE T FHEE Tl also find the size and nature of image.
(i) The position of the cross wires. T9u gF F1 gfoafug wifed 7 It s =1 =1
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(i) The equivalent focal length 27 i T E. :
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4 Define functionality of astronomical refracting
telescope with linear diagram. 8 Write Short Notes on:
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(@) Qil Immersion Technique
5 Whatis corrector plate? What is the functionality de-fausm g
of Schmidt corrector ? T
| plate? (b)  Principie of Lea st Time
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Note .  Attempt any 03 question out of 05 given.
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Discuss Gauss general theory of image
formation.

fag=n =ifea

Explain the concept of dispersion of light.
What are three dispersions of light?
WY o faedgu &7 SfauEon w9 §7 39k
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Define aplantic points of a spherical

refracting surface. What is their

significance?
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{b) What will be the position of image for

1. (a)
(b)
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given lens combination?
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How does the thickness of a lens affect
refraction? Explain.

A positive meniscus lens is made from

glass of refraction index 1.5 is in the air
and its focal length is 12em. What are
the radii of Curvature of the two optical
surfaces of the lens if the radius of the
Curvature of the Concave surface is two

limes greater than the radius of convex
surface?
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Compare Between:

12
qer e
(a) Spherical and Chromatic Aberration
Tefta aen TfF fA9eA
(b) Lateral and Longitudinal Magnifications
fyde au onfiEs sraygdA
(¢) Ramsden's and Huygen's Eyepiece
T aul g9 AfAE
13. Calculate the magnifying power of an
astronomical telescope for:
(a) Normal adjustment
(b) When the final image is formed at the
near point. https://www.ssjuonline.com
Draw the necessary ray diagrams for both the
cases.
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